
afag.comHandling technology HT Accessories80   Handling technology HT Accessories

Drives
Mounting sets, planetary gearbox, 
angular gearbox & servo motors



afag.com Handling technology HT Accessories 81

Table of contents: Drives

Drives Page

Mounting sets 82

Planetary gearbox 92

Servo motors 100

Angular gearbox 116

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38



afag.comHandling technology HT Accessories82   

Mounting sets



afag.com Handling technology HT Accessories 83

Overview mounting kit

Motor

Gear
Mounting kit

Gear - Axis Order
number

PEZ-
52

PEZ-
65

PEZ-
80 PEZ-100 PDZ-128 PDZ-160 PDZ-200 LTM

042-PEZ-52 50467366 x

050-PEZ-52 50396325 x

050-PEZ-65/PDZ-128 50253994 x x

060-PEZ-65/PDZ-128 50253996 x x

070-PEZ-65/PDZ-128 50253995 x x

060-PEZ-80/PDZ-160 50253999 x x

070-PEZ-80/PDZ-160 50253997 x x

075-PEZ-80/PDZ-160/LTM 50254000 x x x

090-PEZ-80/PDZ-160 50253998 x x

075-PEZ-100/PDZ-200 50254003 x x

090-PEZ-100/PDZ-200 50254001 x x

100-PEZ-100/PDZ-200 50254004 x x

120-PEZ-100/PDZ-200 50254002 x x

Nomenclature mounting set:
070 - PEZ-65/PDZ-128
070: matching gear
PEZ-65/PDZ-128: matching axis

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38



afag.comHandling technology HT Accessories84   

Mounting set 050-PEZ-52

Order number 50396325

Net weight 0.1 kg

  
41

.7 
 

  9.7  
  1.5    35 H7  

  44  

M4x10   4    50  

  4
  

  4
6  

  5
4  

  58  

  51  
M4x12

Mounting sets

Anbauset 042-PEZ-52

Order number 50467366

Net weight 0.1 kg 

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M3x10

	� 4x Mounting screw M4x14

 8.5 

 1.5 
 7 

M4x14

M3x10

41.7 

 46 
 54 

 50
 

 58
 

 26
.5 

 31
.5 

35H7 

50 

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M4x10

	� 4x Mounting screw M4x12



afag.com Handling technology HT Accessories 85

Mounting kit 050-PEZ-65/PDZ-128

Order number 50253994

Net weight 0.2 kg

Mounting kit 060-PEZ-65/PDZ-128

Order number 50253996

Net weight 0.3 kg

Mounting sets

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M4x10

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M5x16

	� 4x Mounting screw M5x25

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38



afag.comHandling technology HT Accessories86   

Mounting kit 060-PEZ-80/PDZ-160

Order number 50253999

Net weight 0.5 kg

Mounting sets

Mounting kit 070-PEZ-65/PDZ-128

Order number 50253995

Net weight 0.2 kg

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M5x16

	� 4x Mounting screw M6x20

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M5x12



afag.com Handling technology HT Accessories 87

Mounting kit 070-PEZ-80/PDZ-160

Order number 50253997

Net weight 0.4 kg

Mounting sets

Mounting kit 075-PEZ-80/PDZ-160/LTM

Order number 50254000

Net weight 0.4 kg

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M6x16

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M6x18

	� 4x Mounting screw M6x20

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38



afag.comHandling technology HT Accessories88   

Mounting kit 075-PEZ-100/PDZ-200

Order number 50254003

Net weight 1 kg

Mounting kit 090-PEZ-80/PDZ-160

Order number 50253998

Net weight 0.3 kg

Mounting sets

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M6x16

	� 4x Mounting screw M8x25

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 8x Mounting screw M6x16



afag.com 89

Mounting kit 090-PEZ-100/PDZ-200

Order number 50254001

Net weight 0.9 kg

Mounting kit 100-PEZ-100/PDZ-200

Order number 50254004

Net weight 1 kg

Mounting sets

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M6x16

	� 4x Mounting screw M8x25

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M8x25

	� 4x Mounting screw M8x35

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38



afag.comHandling technology HT Accessories90   

Mounting kit 120-PEZ-100/PDZ-200

Order number 50254002

Net weight 0.9 kg

Mounting sets

Inlcuded in the delivery 
(Catalogue HT accessories)

	� 4x Mounting screw M8x25

	� 4x Mounting screw M8x30



afag.com 91

1
2
3

4
5

6

7
8

9
10
11

12
13

14

15
16
17

18

19
20
21
22
23

24

25
26

27
28
29
30
31
32

33

34

35

36

37

38


